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N.B. :— (1) All questions are compulsory.

qd g SAfer sea.
(2) All questions carry equal marks.
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1. Solve the following transportation problem by using North West Corner

method : 15
Alecd cI';\I“I{I (North West Corner) 9gd dII&H {QIIC’{\IN diedch HHAI
qrean .
D, D, Dy D, Supply
(qTeman)
S, 5 3 6 2 19
S, 4 7 9 1 37
Sg 3 4 7 5 34
Demand 16 18 31 25
(AT
P.T.O.
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Find out the initial feasible solution of the following transportation problem

by using Vogel's Approximation Method : 15

AT A=A Approximation TGAHl AR e @Il aEgeh THEE IRMYS
e I TN

D, D, Dg D, Availability
(SueTseren)

S; 21 16 25 13 11

S, 17 18 14 23 13

Ss 32 27 18 41 19
Demand 6 10 12 15
(ATTui)

Or/feRar

A company has a steady demand of a product of 40 items per month. The
purchase cost is Rs. 6 per item and the cost of ordering and procuring the
material is Rs. 15 per occasion. If stock holding cost is 20% per annum, how

frequently should the company replenish the stock ?

Teh! hUAIhe Tehl IS Udl Hel 40 T feer Anoft 3fe. Wt =71 ®Ral
g™ % 6 @fe oMUl Udl Qe %. 15 Ideh A UTadl aRedd &fe. S
@hY YRV RS 7 YdEs 20% R, W HUAH fhdl GRANG WY gdl
el ?
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Solve the following assignment problem which minimises the total man

hours :

fort THU ATHE@ @ 3R R Eiellal SRy gaen died

15

Manpower (AT5®)
1 2 3 4
A 10 12 19 11
Job B 5 10 7 8
cap)) C 12 14 13 11
D 8 15 11 9
Or/Tepar

Solve the following transportation problem by using Column Minima

Method :

wY feumar (Ffem fafr) usd aued @elia dRege 9ae gred
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D, D, Dy D, Supply
(T
Sq 2 3 11 7 6
So 1 0 6 1 1
Sg 5 8 15 9 10
Demand 7 5 3 2
(ATTUD)
P.T.O.
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A book binder has one printing press, one binding machine and the manuscripts
of a number of different books. The time required to perform the printing and
binding operations for each book are shown below. Determine the order in
which books should be processed, in order to minimize the total time required

to turn out all the books : 15

Tl Q&I U0 dedrhe Tk BUE WA A Tk ¥l 6 SR S
fafay Tt s@iaed 3ed. Udish GRS B o €0 6 HI0AHIC)
ARUR de @Tell foen 318, ¥d gkt A gUl hivaEel armom fRam
e YAl HH el

Book Printing time (hrs.) Binding time (hrs.)
qeeh fiiEin wremaet (qw) [Steviter wreaEt (aE)

1 30 80

2 120 100

3 50 90

4 20 60

5 90 30

6 110 10

Or/fenan

The following table gives running costs per year and resale price of a certain
equipment whose purchase price is Rs. 5,000. At what year replacement

due ?
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WEl fRad 5,000 TUI STHUTAT Uehl SUhIOme  Siford/uaar uResd gfaad 9
qAfdehl fRAa @refial doard foell oTR. whivien ool #9fd sgael difgsl ?

Year Running Cost (Rs.) Resale Value (Rs.)
Ll graar aRked (%) gAfd g (%)
1 1,500 3,500
2 1,600 2,500
3 1,800 1,700
4 2,100 1,200
5 2,500 800
6 2,900 500
7 3,400 500
8 4,000 500
5. Write short notes on (any two) : 15
@) Limitations of Operations Research

(7)) Row Minima Method and Column Minima Method

(zii)  Sequencing Problem

(tv)  Replacement Problem.

e e fagr (s @9)

()  HEfHE GENEETAT AT

Gy ¥ Tafm gga 9 wiew fafa usa
(i) HHAR THE

(v)  SCAHIT GHET.
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